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Section : Marathi Language

Q.1 '@ Uk [y A1 siga! | ardie faramae slord amgd?
Ans o 1.3

X 2.T®

X 3. 9=

X 4. sad

Question Type : MCQ
Question ID : 630680290075
Option 1 ID : 6306801128208
Option 2 ID : 6306801128210
Option 3 ID : 6306801128207
Option 4 1D : 6306801128209
Status : Answered
Chosen Option : 1
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Q.2 ‘yRinr ‘o ererET RAEgredt ere enten.
Ans o 1. ufaed

X 2. T8RO

X 3. st
X 4. gt

Q.3 ' 3ToTHT ( FEH ) TIHHA gidl. ' ShaTdid U= S siiear.
Ans o 1. GETTAT
X 2. fasgor

X 3. grEargesAy
X 4. ferarug

Q.4 ' gHd SUSR FY fauws ? ' a1 i g Rrurndf =a entn.
Ans o 1. IR gAY JUGR Hebid [AER0IR ATgl.

X 2. dR gl faeret gad IuaR |
X 3. ImEl gAT ISR Aahd faus.
X 4. argt fAas &1 gHe IuER?

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCQ
630680290062
6306801128156
6306801128158
6306801128155
6306801128157
Answered

1

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 3 1D :
Option 4 1D :

Status :

Chosen Option :

MCQ
630680290073
6306801128199
6306801128202
6306801128200
6306801128201
Answered

1

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
630680290070
6306801128190
6306801128189
6306801128188
6306801128187
Answered

1
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Q.5 U H|IST (R ) AShHeT ghdl. HATAA U==T ST T,
Ans X 1. ferarfaseo sarg

X 2. haewantt sreag

o 3. vsant sy

X 4. Iyaradt ey

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCQ
630680290072
6306801128195
6306801128198
6306801128196
6306801128197
Answered

1

Q.6 ‘Iua= ' ot weErEn arETdT ereg enten.

Ans X 1.SflEs
o 2. &M
X 3.uaH
X 4. Affare=
Question Type : MCQ
Question ID : 630680290061
Option 11D : 6306801128153
Option 2 1D : 6306801128152
Option 31D : 6306801128151
Option 41D : 6306801128154
Status : Answered
Chosen Option : 1
Q.7 ‘9t et md g Freasfi| A2 * a1 gt 9dam silean.
Ans X 1. grerasf
X 2. &
W 3-d
X 4. et
Question Type : MCQ
Question ID : 630680290074
Option 1 ID : 6306801128205
Option 2 1D : 6306801128203
Option 31D : 6306801128206
Option 41D : 6306801128204
Status : Answered
Chosen Option : 3
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Q.8 VHIUTHEATTHR 3HJch QA AT

Ans o 1. AHEUTRIREY
X 2. guiyoTeRIeT
X 3. gGaeEdieed
X 4. GUT9UTERIerTe

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCQ
630680290063
6306801128160
6306801128162
6306801128159
6306801128161
Answered

1

Q.9 dARIET Rerre st giva weggaraes erez i .

Ans X 1.99
o 2.9
X 3. "iear
X 4. arean
Question Type : MCQ
Question ID : 630680290068
Option 11D : 6306801128179
Option 2 1D : 6306801128182
Option 31D : 6306801128180
Option 41D : 6306801128181
Status : Answered
Chosen Option : 2
Q.10 fraruzifawdt afddht o= e &g wuaE ?
Ans X 1.gdam
o 2. forafasao
X 3. fagiyor
X 4. fadwam
Question Type : MCQ
Question ID : 630680290071
Option 11D : 6306801128191
Option 2 1D : 6306801128193
Option 31D : 6306801128192
Option 41D : 6306801128194
Status : Answered
Chosen Option : 2
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Q.11 ‘ fea=ar ' a1 a=r=ar S oY 21 ente.

Ans X 1. argedl
X 2. argen
o 3. Al
X 4. graear
Question Type : MCQ
Question |ID : 630680290064
Option 11D : 6306801128166
Option 2 1D : 6306801128164
Option 31D : 6306801128163
Option 4 1D : 6306801128165
Status : Answered
Chosen Option : 2
Q.12 ' "Re1 €A, da 63 * ar rgoftn g e wim.
Ans X 1. zeERe 9 @
X 2. 9@ @G SYT agad A1l
X 3. maf= armom=arar 14 & A gt
o 4. AU R Hlet hl Hed Hum=arar 38z e,
Question Type : MCQ
Question ID : 630680290065
Option 11D : 6306801128169
Option 2 1D : 6306801128170
Option 31D : 6306801128167
Option 4 1D : 6306801128168
Status : Answered
Chosen Option : 4
Q.13 31T ITRIIAT HIUTAT AT & LM
Ans X 1. 39 drée HINTHH a1 QRdahr=al &g FAfga.
X 2. \TETHH QEddhral degEm a1 Afda soe aee.
o 3. AU HINTHH I1 QRahr=aT Aerg=m- Afda aa.
X 4. TSI GEIEAT 91 JEE A A arda.
Question Type : MCQ
Question ID : 630680290069
Option 11D : 6306801128185
Option 2 1D : 6306801128186
Option 31D : 6306801128184
Option 4 1D : 6306801128183
Status : Answered
Chosen Option : 3
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Q.14 * aram1 1Y SAfEien Srcarara Rad & s’ .. e gggEE U s .
Ans X 1.3

2. fafe=s
X 3.9
X 4. &fRarR
Question Type : MCQ
Question ID : 630680290067
Option 11D : 6306801128176
Option 2 1D : 6306801128177
Option 31D : 6306801128175
Option 41D : 6306801128178
Status : Answered
Chosen Option : 2
Q.15 ' urdE fiR2 &vol ' a1 arevaRTE g o |
Ans X 1. wfSi gt
X 2. 3nz@ ot
o 3. W IR 0l
X 4. 13 @rgen grel
Question Type : MCQ
Question ID : 630680290066
Option 11D : 6306801128174
Option 21D : 6306801128173
Option 3 ID : 6306801128171
Option 4 1D : 6306801128172
Status : Answered
Chosen Option : 3
Section : English Language
Q.1 Select the option that can be used as a one-word substitute for the underlined segment.
The person in-charge of the museum instructed the visitors not to touch any articles on
display.
Ans o 1. curator
X 2. attendant
X 3.guard
X 4. supervisor
Question Type : MCQ
Question |ID : 630680290082
Option 11D : 6306801128235
Option 2 1D : 6306801128237
Option 3 ID : 6306801128236
Option 4 ID : 6306801128238
Status : Answered
Chosen Option : 1
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Q.2 Select the most appropriate synonym of the given word.

Persist
Ans X 1.Cease
X 2. Struggle
X 3.Create
o 4. Continue
Question Type : MCQ
Question ID : 630680290076
Option 1 1D : 6306801128212
Option 2 ID : 6306801128211
Option 31D : 6306801128214
Option 4 ID : 6306801128213
Status : Answered
Chosen Option : 2
Q.3 Parts of the following sentence have been given as options. Select the option that contains
a spelling error.
The managing director visits the factory regulerly for inspection.
Ans ¢ 1. factory regulerly
X 2. for inspection
/X 3. The managing
X 4. director visits the
Question Type : MCQ
Question ID : 630680290080
Option 1 1D : 6306801128229
Option 2 1D : 6306801128230
Option 3 ID : 6306801128227
Option 41D : 6306801128228
Status : Answered
Chosen Option : 1
Q.4 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.
A. Since penicillin could help to save the wounded soldiers, it was used in war.
B. With its help, we can heal wounds caused by bacteria which cannot be otherwise healed.
C. Penicillin is one of the most useful drugs invented by man.
D. In the beginning, very few people knew of this wonderful discovery or its uses.
Ans 1. CBDA
X 2.CDBA
X 3.ABCD
/< 4. ACDB
Question Type : MCQ
Question ID : 630680290085
Option 1 1D : 6306801128249
Option 2 ID : 6306801128248
Option 3 ID : 6306801128247
Option 4 1D : 6306801128250
Status : Answered
Chosen Option : 2
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Q.5 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.

A. In 1784, he was the first to describe colour blindness, which came to be known as
Daltonism.

B. John Dalton was an English Chemist whose atomic theory is the basis of Chemistry.
C. Dalton could not distinguish red from green.

D. The word is still used in French, Spanish and Russian.

Ans X 1.BDAC
o 2. BCAD
/< 3.BCDA
X 4.BACD
Question Type : MCQ
Question ID : 630680290084
Option 1 1D : 6306801128244
Option 2 ID : 6306801128245
Option 3 ID : 6306801128246
Option 41D : 6306801128243
Status : Answered
Chosen Option : 2
Q.6 Select the most appropriate option to fill in the blank.
You could wait for the doctor take another appointment.
Ans X 1.and
X 2.s0
o 3.0r
X 4.even
Question Type : MCQ
Question |ID : 630680290089
Option 11D : 6306801128263
Option 2 ID : 6306801128265
Option 31D : 6306801128264
Option 4 1D : 6306801128266
Status : Answered
Chosen Option : 4
Q.7 Select the most appropriate option to fill in the blank.
The arrow missed its mark.
Ans o 1. narrowly
X 2. quietly
X 3. suddenly
/< 4. quickly
Question Type : MCQ
Question |ID : 630680290088
Option 1 1D : 6306801128259
Option 2 ID : 6306801128260
Option 31D : 6306801128261
Option 4 ID : 6306801128262
Status : Answered
Chosen Option : 1
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Q.8 Select the most appropriate meaning of the given idiom.

Go astray
Ans X 1. Take a difficult route

X 2.Go on along journey
o 3. Follow a wrong path
X 4. Walk carefully

Question Type : MCQ
Question ID : 630680290078
Option 1 1D : 6306801128220
Option 21D : 6306801128221
Option 3 1D : 6306801128222
Option 41D : 6306801128219
Status : Answered
Chosen Option : 3
Q.9 Select the most appropriate ANTONYM of the given word.
Famished
Ans X 1. Supported
o 2. Satiated
/< 3. Starved
X 4. Stifled
Question Type : MCQ
Question ID : 630680290077
Option 11D : 6306801128218
Option 2 1D : 6306801128216
Option 31D : 6306801128215
Option 4 1D : 6306801128217
Status : Answered
Chosen Option : 3
Q.10 Select the option that can be used as a one-word substitute for the underlined segment.
He went on driving the car, without knowing of the danger that awaited him.
Ans X 1. offended
o 2. oblivious
/< 3. omnipotent
X 4. odious
Question Type : MCQ
Question ID : 630680290083
Option 1 1D : 6306801128242
Option 2 ID : 6306801128240
Option 31D : 6306801128239
Option 41D : 6306801128241
Status : Answered
Chosen Option : 4
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Q.11 Select the most appropriate meaning of the given idiom.

Leave no stone unturned
Ans X 1. To dig deep underground

X 2.To hunt for a treasure
o 3. To do one's best for something

X 4. To study the properties of stones

Question Type : MCQ
Question ID : 630680290079
Option 1 1D : 6306801128225
Option 2 ID : 6306801128223
Option 31D : 6306801128224
Option 4 ID : 6306801128226
Status : Answered
Chosen Option : 3
Q.12 Parts of the following sentence have been given as options. Select the option that contains
a spelling error.
Several people don't approve of her dimenour full of affectation.
Ans ¢ 1. her dimenour
X 2. full of affectation
/X 3. Several people
X 4.don't approve of
Question Type : MCQ
Question ID : 630680290081
Option 1 1D : 6306801128233
Option 2 1D : 6306801128234
Option 3 1D : 6306801128231
Option 41D : 6306801128232
Status : Answered
Chosen Option : 2
Q.13 Select the most appropriate option to fill in the blank. If no word is needed in the blank,
select ‘'no word'.
We kept our fingers crossed when result was being announced.
Ans X 1.an
X 2.a
o 3. the
X 4. No word
Question Type : MCQ
Question ID : 630680290086
Option 11D : 6306801128252
Option 2 ID : 6306801128251
Option 31D : 6306801128253
Option 4 1D : 6306801128254
Status : Answered
Chosen Option : 2
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Q.14 Select the most appropriate option to fill in the blank.

Taru rested the guests had left.
Ans o 1. after
X 2. though
X 3. so that
X 4.if
Question Type : MCQ
Question ID : 630680290090
Option 1 1D : 6306801128270
Option 2 1D : 6306801128269
Option 31D : 6306801128268
Option 4 1D : 6306801128267
Status : Answered
Chosen Option : 4
Q.15 Select the most appropriate option to fill in the blank. If no word is needed in the blank,
select 'no word'.
Granting you fortnight’s leave is out of the question.
Ans 1.8
X 2.an
X 3.the
X 4.no word
Question Type : MCQ
Question ID : 630680290087
Option 11D : 6306801128258
Option 2 1D : 6306801128257
Option 3 1D : 6306801128256
Option 41D : 6306801128255
Status : Answered
Chosen Option : 1
Section : General Knowledge
Q.1 ¥YRd IS RY 4 S AfdFR g FHivmr=an ArEarEr dgda?
Ans X 1. YRa g3
X 2. Rar" gauy=
o 3. YRard AFud!
X 4. YRArE Gt
Question Type : MCQ
Question ID : 630680290100
Option 11D : 6306801128310
Option 2 1D : 6306801128308
Option 3 1D : 6306801128307
Option 4 ID : 6306801128309
Status : Answered
Chosen Option : 2
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Q.2 IR FHiE fhar FTR 37 R=THR IRMTER Siom=ar 93 AT Gl Ira«r?

Ans X 1.g&dl TH
X 2. faeag dege
o 3. T gfees
X 4. i Megaat
Question Type : MCQ
Question ID : 630680290092
Option 1 1D : 6306801128277
Option 2 1D : 6306801128278
Option 31D : 6306801128276
Option 4 1D : 6306801128275
Status : Answered
Chosen Option : 2
Q.3 23 =1 2018 = AfAGFAFER Mo AgRIE TRarR=a1 ugiaror s sgarera J9g dhetedn
e eaeuTa FanigaR, gaafur F &Ral =gt ageadia wiieeer 9 =1 AT
FugTeuTy §¢ hell SITEl.
Ans X 1.3ad
2.2
X 3.6ad
X 4.9qd
Question Type : MCQ
Question ID : 630680290104
Option 11D : 6306801128324
Option 2 1D : 6306801128325
Option 3 1D : 6306801128323
Option 4 1D : 6306801128326
Status : Answered
Chosen Option : 3
Q.4 YRR AU ‘GHadl arEl’ dt e Wrefierddh! T AT ASTIEAgA el 31g?
Ans X 1.9+
X 2. saH
X 3.fsz=
4. St
Question Type : MCQ
Question ID : 630680290099
Option 1 1D : 6306801128306
Option 2 1D : 6306801128304
Option 31D : 6306801128303
Option 4 1D : 6306801128305
Status : Answered
Chosen Option : 4
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Q.5 HERIEIE Zfea aaaEien AR 2uR gafa guraars aftraa @reiedd wtor gid?
Ans o 1. Sl &R AEE

X 2. s yeads
X 3. 30T HAE et
X 4. AR e @

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCQ
630680290105
6306801128328
6306801128327
6306801128329
6306801128330
Answered

1

Q.6 Wi HIVTE FHATTIR Wi g TRIGAA ZZaT1E € HI0TTE ATAT?
Ans X 1.1784 a1 fugy 3f3ar sraen
X 2.1773 =n fAau= sraer

X 3.1813 91 T+ Fhraal

o 4. 1935 91 HRd kR HIId]

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 3 1D :
Option 4 1D :

Status :

Chosen Option :

MCQ
630680290091
6306801128274
6306801128271
6306801128272
6306801128273
Answered

4

Q.7 YRa uffdaga ydas @i fhdt ong?
Ans X 1.58°7'Ed 67°25E exH

X 2.38°7'Ed 57°25E g™
X 3.78°7'Ed 37°25E =M
o 4. 68°7'Ed 97°25'E @R

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
630680290096
6306801128293
6306801128294
6306801128292
6306801128291
Answered

4
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Q.8 W' udd M PUH i@ STon=ar AgRrer=n uffs arerh gwrad 3= 3TE.

Ans X 1.6000-7500 m
o” 2. 1000-1200 m
< 3.4000-4500 m
< 4.2000-3000 m

Question Type : MCQ
Question ID : 630680290101
Option 1 1D : 6306801128314
Option 2 1D : 6306801128313
Option 3 1D : 6306801128311
Option 4 1D : 6306801128312
Status : Answered
Chosen Option : 2
Q.9 =gamar aiea MEsriwradtes UNDP =1 2022 srgarara FAerd o/ witrara &), GG
2005-06 1o 2019-20 FTH WRAT T TREAGH qE TS.
Ans X 1.89.7 &ié
X 2.59.1 @t
o 3. 41.5%A
X 4.21.3 &
Question Type : MCQ
Question |ID : 630680290098
Option 1 1D : 6306801128302
Option 2 1D : 6306801128301
Option 3 1D : 6306801128299
Option 4 1D : 6306801128300
Status : Answered
Chosen Option : 3
Q.10 FgafR Heft FiveT dar?
Ans X 1.14 371 UachrT gEardE
o 2. 13 o1 A=Al geardia
X 3.17 =1 =T gEardg
X 4.5 =1 AT gEardig
Question Type : MCQ
Question ID : 630680290093
Option 1 ID : 6306801128280
Option 2 ID : 6306801128279
Option 3 ID : 6306801128282
Option 4 ID : 6306801128281
Status : Answered
Chosen Option : 1
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Q.11 2022 yda=mn AifiRdgaR, Eradd Fo yrRars gafa qgr & & a?
Ans o 1.3 A &3

X 2. uffm 3a &
X 3. zfgur e e
X 4. IWIA e

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCQ
630680290097
6306801128295
6306801128297
6306801128296
6306801128298
Answered

1

Q.12 g 368t 2004 Ted AT UTvaRET! FEET WRATT EfAvtede R A1 w1

H1a?
Ans o 1.3RxrdiEe
X 2. It fig
X 3. garursge

X 4. Sfan gige

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 3 1D :

Option 41D :

Status :

Chosen Option :

MCQ
630680290095
6306801128290
6306801128289
6306801128288
6306801128287
Answered

1

Q.13 GErefiedh shemrear Hegunt, wisor g1 Suaw 50 B & FaRudiade aaa udar end?
Ans X 1. §mrerar IgEPR 1ty dR deirer adari

o 2. 3t gz Jfor Tt T

X 3. aREt Tig sfor grageT gdazi

X 4. 3RE g 1oy Aresar usR

Question Type :
Question ID :
Option 1 1D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
630680290102
6306801128317
6306801128315
6306801128316
6306801128318
Answered

2
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Q.14 3f3m Ve 3t wiee Rulé (ISFR) 2019 JUR AgRIETE Jen=aTe- fandt anmg?

Ans X 1.35506 km?
o 2. 10,806 km?
X 3.16,778 km?
< 4.13,500 km?

Question Type : MCQ
Question |ID : 630680290103
Option 1 1D : 6306801128320
Option 2 ID : 6306801128319
Option 3 1D : 6306801128322
Option 4 ID : 6306801128321
Status : Answered
Chosen Option : 2
Q.15 U9 g BR 31 Raear I wea Sgerude (NABARD) t Tuma=r Syt 1982 qea
afdt= frerfiTar srvara srel.
Ans o 1. fRrawms
X 2. oA
/< 3. 2@
X 4. dgaa
Question Type : MCQ
Question |ID : 630680290094
Option 1 1D : 6306801128285
Option 2 1D : 6306801128284
Option 3 ID : 6306801128286
Option 4 1D : 6306801128283
Status : Answered
Chosen Option : 1
Section : Mental Abilty
Q1 X nfor Y v figums arevars goara #Xad. X 3eakel 10 m e, da7 ar 9iRases awar s
20 m STerar, e Al caT=dT 37diehe dadd! HIUT 25 m STeldr. &4 Haradrd, Y 3ea? & 35 m
T, X =0T FUETEAT Hesla Y AT F 31?
Ans
1 X =7 qéi'\:rh 20 m
X2 X =gr gReaT 40 m
X3 X =T 948 30 m
X4 X =31 9R=ga® 20 m
Question Type : MCQ
Question ID : 630680290116
Option 1 1D : 6306801128371
Option 2 ID : 6306801128373
Option 31D : 6306801128374
Option 4 ID : 6306801128372
Status : Answered

Chosen Option :

1
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A2 grefrer AferRd Jere TUTET o oY e qUT sRomdr wwm e
8, 26, 80

Ans X1.162
X2 164
v3 242
X 4160
Question Type : MCQ
Question ID : 630680290118
Option 1 1D : 6306801128381
Option 2 ID : 6306801128382
Option 3 ID : 6306801128379
Option 4 1D : 6306801128380
Status : Answered
Chosen Option : 3
O3 grefer AferRa Jérer Tt oM OT e qUT SRumr wear e
98, 99, 62, 67
Ans X1 119
X289
V374
X479
Question Type : MCQ
Question ID : 630680290119
Option 1 1D : 6306801128385
Option 21D : 6306801128384
Option 3 1D : 6306801128383
Option 41D : 6306801128386
Status : Answered
Chosen Option : 3
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Q.4 femwr ey ApdrEar ARy el Hpdr Raer S s weaferEh (7) Sew 9F ek,

Queslinnﬂgums
@] ()] 1K
QA |O| A

(A) (B) (C) (D)

Question Figures - T3 HTpcm

Answer Figures - 3cal HTpcdl

Ans x 1. A
8 N g
3D
X 4B
Question Type : MCQ
Question ID : 630680290117
Option 1 1D : 6306801128375
Option 2 ID : 6306801128377
Option 3 1D : 6306801128378
Option 4 1D : 6306801128376
Status : Answered
Chosen Option : 3
Q.5
SR WET RaR HEA, o FHler=dr 3= f&ad Hiorar gar?
e G I
v 2 @IAIR
X 3 e
X4 HI@BAR
Question Type : MCQ
Question ID : 630680290106
Option 1 1D : 6306801128333
Option 2 ID : 6306801128331
Option 3 ID : 6306801128334
Option 41D : 6306801128332
Status : Answered
Chosen Option : 1
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Q.6 Rewew swAYs veafasgrear (?) St A7 e T Wrelte Mg HUYUT oMeg G A HE HEW
ICEED

?ICK, ?AGE, ?TEP, ?MOG

Ans 7 . S
X2 T
X3 R
X 4P

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 3 ID :

Option 41D :

Status :

Chosen Option :

MCQ
630680290113
6306801128359
6306801128362
6306801128361
6306801128360
Answered

1

A7 greier Ffed gére T Jundr anfor faeT quT Sond wE e
10,14, 28. 32, 64, 68

Aes; P6: 1180
X2 264
X3 164
v 4 136
Question Type : MCQ
Question ID : 630680290120
Option 11D : 6306801128390
Option 2 ID : 6306801128388
Option 3 1D : 6306801128389
Option 41D : 6306801128387
Status : Answered
Chosen Option : 4
Q8 oA gET HeR-TTe gfgedr eTEenh wafT MR, cravAmT e seraenh Fafa weer
g fAaeT
NAME : MANE :: AVES : ?
Ans X 1. EASV
v 2 EVAS
X 3. SAVE
X 4 VASE
Question Type : MCQ
Question ID : 630680290110
Option 11D : 6306801128349
Option 21D : 6306801128347
Option 3 1D : 6306801128348
Option 4 1D : 6306801128350
Status : Answered
Chosen Option : 2
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¥ grefer AfereRd e T Ao T AT qOT WO HeR A

T < )
Ans o . V
- R
X3 X
X4 W
Question Type : MCQ
Question ID : 630680290112
Option 1 ID : 6306801128355
Option 2 ID : 6306801128358
Option 31D : 6306801128357
Option 4 1D : 6306801128356
Status : Answered
Chosen Option : 1
Q.10 = sre=Ear Roear Mg, SO Rty ve Rftrse el 3 0o oF 9 . o e
AT HISET.
v TiEr - qureh
X2 R - =TI
X 3 SARTA - qTer
X 4 ol - g
Question Type : MCQ
Question ID : 630680290109
Option 11D : 6306801128346
Option 2 ID : 6306801128343
Option 3 1D : 6306801128344
Option 41D : 6306801128345
Status : Answered
Chosen Option : 1
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Question Type : MCQ
Question ID : 630680290111
Option 1 1D : 6306801128353
Option 2 ID : 6306801128354
Option 31D : 6306801128351
Option 4 1D : 6306801128352
Status : Answered
Chosen Option : 2
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Question Type : MCQ
Question ID : 630680290114
Option 1 1D : 6306801128364
Option 2 ID : 6306801128365
Option 3 ID : 6306801128366
Option 4 1D : 6306801128363
Status : Answered
Chosen Option : 2
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Question Type : MCQ
Question ID : 630680290115
Option 1 1D : 6306801128369
Option 2 ID : 6306801128367
Option 3 ID : 6306801128370
Option 4 ID : 6306801128368
Status : Answered
Chosen Option : 3
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Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCQ
630680290108
6306801128341
6306801128340
6306801128339
6306801128342
Answered

3

Q.15 Select the letter-cluster from among the given options that can replace the question mark (?) in the following series.

EFR., GHS, JKT, ?

Ans 1. NOU
X 2. MMU
X 3. MUN
X 4. UMN

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
630680290107
6306801128336
6306801128338
6306801128335
6306801128337
Answered

1
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